
Power Back Reclining Mechanism



Power Back Reclining Mechanism
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
1027095 Plug Button, Black (7/8") 1 61

60284X005-NLA NLA - Screw, Socket Head (1/2-20 x 1-1/4") 1 22
1031658 Bracket, Controller Mounting, Black - Adult (18" W) 1 23
1031659 Bracket, Controller Mounting, Black - Narrow Adult

(16" W)
1 23

1028514 Screw, Hex Head (5/16-24 x 1-1/2") 1 24
50200X000-NLA NLA - Locknut (5/16-24) 1 85

1028496-NLA NLA - Nut, Acorn (5/16-24) 1 66
1031891 Screw, Hex Head (5/16-24 x 2") 1 47

1031664-NLA NLA - Screw, Shoulder Hex Socket Head  (3/8 x 1") 1 28
1031886-NLA NLA - Screw, Shoulder Hex Socket Head (1/2 x

1-3/4", 3/8-16)
1 29

60282X011-NLA NLA - Screw, Shoulder Hex Socket Head (3/8 x
1-1/4", 5/16-18)

1 410
1031673-NLA NLA - Washer, Nylon (35/64 x 1 x 1/16") 1 1411

1031665 Screw, Shoulder Hex Socket Head (3/8 x 1-1/2",
5/16-18)

1 112
1029268 NLA - Rod, Motor Mount, Adult (18" W) 1 113

1029270-NLA NLA - Rod, Motor Mount, Narrow, Adult  (16" W) 1 113
14190X000-NLA 0 1 114

1025704 Washer, Flat (5/16 x 5/8 x 1/16") 1 515
1028769 Locknut (5/16-18) 1 316

50000X346-NLA NLA - Mount, Spacer, Flange 1 117
1024220-NLA NLA - Actuator Motor Assembly, Drive 1 118
1029262-NLA NLA - Extender, Leg 1 219
1026163-NLA NLA - Nut, Hex Jam. (1/2-20) 1 220
1029266-NLA NLA - Rod, Rear Actuator, Adult (18" W) 1 121
1029264-NLA NLA - Rod, Rear Actuator, Narrow, Adult (16" W) 1 121
1031885-NLA NLA - Plate, Pivot (Black) 1 222
1031892-NLA NLA - Spacer 1 123

1012371 Washer, Nylon (3/8 x 7/8 x 1/16") 1 624
47183X046-NLA NLA - Spacer (11/32 x 5/8 x 1/2") 1 425
16325X000-NLA NLA - Washer (3/8 x 13/16 x 1/16") 1 226

1028486 Locknut, Low Profile (3/8-16) 1 227
1031026 Screw w/ Lug (5/16-24 x 1-3/8") 1 228

1029255-NLA NLA - Clamp, Bushing 1 229
1013149-NLA NLA - Label, Caution 1 130

47447X009-NLA NLA - Screw, Phillips (#8 x 3/8") 1 631
1037481-NLA NLA - Headrest Extension Tube Assembly, Black 1 232 B,C
1037481-NLA NLA - Headrest Extension Tube Assembly, Black 1 232 B,D
1029130-NLA NLA - Tube, Recliner Back, Black - Right 1 233
1029131-NLA NLA - Tube, Recliner Back, Black - Left 1 233

See Page See Footnote -- --34 A
A - See Frames with Hardware page.  
B - Includes items 1 and 31  
C - Without Heat-Shrink Tape - After 9/92  
D - With Heat Shrink Tape - Before 10/92  

NOTE:

 


